AS-2009 Q7 & Q8

7. A dipole bar magnet is shown in the diagram below, along with the pattern of field
lines around it. A small steel ball bearing 1s placed at point O shown. What force
would act upon the ball bearing?
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8. An electric current flowing through a wire produces a magnetic field around the wire.
Four wires carrying identical currents are shown placed at the comers of a square. The
symbol @ indicates a current flowing along the wire into the page. and the symbol ®
indicates a current flowing along the wire pointing out of the page. In which of the
diagrams is the magnetic field at the centre of the square greatest?



